|
DOBBIES INSTRUCTION MANUAL

.y dobbies
Alps Mocha Bistro Set garden centres

983452

@

BEFORE YOU START

* Retain these instructions for future reference.

*  When you are ready to start, make sure that you have the right tools, plenty of space and a clean,
dry area for assembly.

» Unwrap all packaging materials and place the components on top of the carton box or on a clean
floor to prevent it from scratching.

»  Check the pack and make sure you have all the parts listed.

* Do not use power tools to construct this product.

»  Ensure that this product is fully assembled as illustrated before use.

WARNINGS

* Do not sit or stand on the product.

*  This product should only be used on firm, level ground

*  Keep small parts out of reach of children.

*  Check all screws or bolts are tightened and inspect regularly.

* Do not tighten screws until fully assembled.

* Do not overtighten screws or bolts.

* Do not use this product if parts are missing, damaged or worn.

»  This product is for domestic use only.

* Do not place boiling hot items directly onto glass.

e This furniture set includes dining chairs, these chairs have a maximum weight tolerance of 110kg,
do not exceed this weight.



DOBBIES INSTRUCTION MANUAL

ASSEMBLY INSTRUCTIONS
PARTS AND FITTINGS SUPPLIED

Jydobbies

garden centres

PART IMAGE DESCRIPTION | QTY | PART IMAGE DESCRIPTION | QTY
A Table Top 1 B H Iab'e Base 2
eg
C Table Base 2 D «Wm@) Bolt M6X25 8
E Wﬁ“ﬂ“ﬂ@) Bolt M6X20 4 F @ Nut M6 8
Plastic Nut
G Metal Washer 20 H @ Cap M6 8
e
| @ Z':st,'\jl’GBmt 12 J Q Glass Top 1
K Cgftj Spanner 1 L ﬂ Allen Key 1




DOBBIES INSTRUCTION MANUAL

STEP 1:

Remove Glass Top (J) and place Table Top (A)
face down on a flat, soft area of ground. Attach
Table Base Leg (B) to Table Top (A) using Bolts
(E ) and Metal Washers (G). Repeat for the
second Table Base Leg (B). Plastic Bolt Caps
() should only be added once all bolts have
been tightened after Step 2.

Jydobbies

garden centres

STEP 2:

Attach Table Base (C) to Table Base Leg (B)
using Bolts (D), Nuts (F) and Metal Washers
(G). Once all bolts have been tightened, Plas-
tic Bolt Caps (I) can be added to Bolts (D) and
Plastic Nut Caps (H) can be added to Nuts
(F). Turn table upright and place Glass Top (J)
on top, securing with suction cups.




|
DOBBIES INSTRUCTION MANUAL

.y dobbies

garden centres
CARE INSTRUCTIONS

* Please keep away from sources of extreme heat and naked flame.

* Warm soapy water is recommended to clean the product.

* Throughout the winter months, bring product indoors where possible or use a
breathable furniture cover. Failure to do so may invalidate your warranty. Failure to
do so may invalidate your warranty.

* Please note that synthetic weave product may sag under direct sunlight. This is a
normal occurrence, and the weave will return to its normal state upon cooling. To
help reduce this occurrence, we recommend using a parasol where possible.

* This furniture set includes dining chairs, these chairs have a maximum weight
tolerance of 110kg, do not exceed this weight.

* Please note the cushions for the chairs are not waterproof and should not be left out
in the rain. Please store the cushions in a cool, dry place when not in use.

* This product contains tempered safety glass, please handle with extreme care.

Do not place boiling hot items directly onto the glass.

CONTACT

CUSTOMER SERVICES - EMAIL: CUSTOMER.SERVICE@DOBBIES.COM. TELEPHONE NUMBER:
0131 561 6406 OR CONTACT YOUR LOCAL STORE.
DOBBIES GARDEN CENTRES LTD, MELVILLE NURSERY, LASSWADE, MIDLOTHIAN, EH18 1AZ



	Blank Page



